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Useful conversions
1 meV ↔ 4 ps
1 µeV ↔ 4 ns



E��?�%>:#�
�������

- #�������������������������������'�����294�/������ . �����
���� �2�4����������'�������� ��������� �����2:4������������
��������� �����

- 
 ���������������������������������������1�

tunneling

libration

stochastic
reorientation

k
B
T

( ) ( )�3cos1
2

V
�V 3 −=



E��?�%>:#�
�������

$ �������'�����'��/�����������/��������������������'��D

9

9!

:! :� <! <� �!

J
��
2µ
�K

4

K
:
�2��K4

!

�

9!

9�

�!

��

:!

! 9! �! :! <! �!

J
�2
�
�
K
4

K
:
�2��K4

���������� ��������������������

�
L#E

F�!

�
L#E

F�9

( )�3cos1
2

V
d�
d

BH 3
2

2

−+−=



�����������$ �������'

0

10

20

30

40

50

-50 0 50 100 150 200 250 300

θ (o)

n
LIB

 = 0

V
(θ

) (
m

eV
)

n
LIB

 = 1

n
LIB

 = 2

- $ �������'������2+��������'�4�
���������������������/�������������
, �/���������� �����'�������������

- 6 /����������������, ���������������
��/���2�L#E4���������������'������
����������, �����������������/��



L����������������

- L�����������������������������������

- >�������������3�������1
30 BV3=ω�

!

9!

�!

:!

<!

�!

=! (! 9!! 9�! 9<! 9=! 9(!

K
:
�2
�
�
K
4

Θ�2��'����4

J
!

J
9

>�������

�����3�������

�3���

�����3

0LIBn 2
1

nE ω�
�

�
�
�

� += �

!

�

9!

9�

�!

��

! � < = ( 9!

7
��
��
��
��
��
��
��

��
��
��
��

��
��
��
2�

�
K
4

K
:

90�
�2��K

90�
4

�3���

��������

�����3�������



) ������������������
�������



M ���'�#���������� �������
 ��������'�
���
 ���) ����������������

- � �����	
��
	��	�����
�
��	�������	��������	��
�
�����


- �	������	��
�
�����	�

- 
 ����������1�>�

Ψ= ψrot ψns ψelψvib 2ψelψvib �����������������������������'�����������4

Ψ ���������
 ���������������3����'��2����������������������4

ψns ���������
 2
 4��� ψrot ���
 2�
 4

( )
( )↓↑−↑↓=ψ

�
�

�

�
�

	




↓↑+↑↓

↓↓
↑↑

=ψ

2
1AS

ns

2
1

S
ns

J = 1, ortho

J = 0, para
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